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(o) WMatkendra || > POLICE miraasi,/ UP azaars |

There are two 2 - D plane figure i.e. circle and square. The radius of circle is 14
cm whereas the side of square is 10 cm. Find the average area of these two

figure.

al 2 - Sl gHdd 3Tbfd Ul 9 SR 97 fGT U g | 9 Dl [HAsar 14 A4l § Sdfd
T DI YT 10 YT B 1 S &l STHIaA! DT 3 & J1d DIl |

350 JH2
358 |2

5 360 JH2
370 THI12
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A circular park has a circular path of a width of 4 cm around it. If the ratio
between the area of the outer and inner circle is 169 : 81, then find the diameter
of outer circle.

U bR Ui & dRI 3R 4 JH! Dl dISTs I Ub IdIdR UY ¢ | dfe drel 3R
3D 99 & &Ahd & did BT AUl 169 : 81 T, dl dlg<l Id B AN 1d
it

25 cm

24 cm

23 cm
26 cm
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If the perimeter of a rhombus is 80 cm and one of the angles is 60°, then find
the area of the rhombus? [Take V3 = 1.73]

gfc; U raqHsl &1 URATY 80 JHI § 3R IV T A U 60° T, dl GHAGUS DI
&AH A JT1d HIfSTT? [Take V3 = 1.73]

346 cm?

184 cm?

272 cm?
248 cm?
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Diagonals of a trapezium ABCD with AB Il CD intersect each other at the point
O. If AB = 2CD, then the ratio of the areas of AAOB and ACQOD is

AB Il CD & 1Y U JHdd 9gUsl ABCD & fd@ul foig O R U GIR &l Uld=ig
®d © | dfc AB = 2CD, dl AAOB 3{R ACOD @ &HAthdl &l 3{uld &

45 .
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A stock of sugar for making sweets can be used for 26 pieces. If a new worker
uses 30% more sugar for making a piece of sweet, then calculate how many
pieces of sweet can be made now.

[H&T18 S & Q1T diHl &1 U SR 26 Tho [HA3Al o [T ITGRT {1 ST gabd
o e Udh 791 gadls U <ol [HE[g &1 o [¢1U 30% 3Hi8d di-il BT IugN]
Bl ©, Al VAT Diford fob 319 fhd-il <hs a1l a5 ol Jdbdl o2

25

30

45 i
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A, B and C can do a work in 20, 30 and
60 days respectively. In how many days
A will complete the work with B and C if
A works daily and B,C both helps A every
3rd day.

A,B,C 3tahot Tt ™ =r 20,30,60 fa=t ®
& W ¢ A I & & fwmas f & qu
& Ifg B 31T C uds drat fa7 A =t |eraar

w0 £
) 12 (B) 14
©) 10 (D) 15

S



(o) WMatkendra || > POLICE miraasi,/ UP azaars |

When the number formed by reversing the digits of a two-digit number is
subtracted from the original number then the result is 45. If the sum of the

digits of the number is 9 then, what is the original number?
Ol &l 3{h] DI AT & bl b b I a1 TAT HI Tol ST I HeT e
STl & ol URUIMA 45 BIdl g | Afc AT & 3{chl b1 AT 9 g Al Hol AT 1 872

72

81

45 .
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A started a business with Rs. 15000, after two months B joined the business

with Rs. 12000 and after two months of B the third person C joined the business
with Rs. 10000. The total profit share after 1 year is Rs. 5700. What is the profit
share of A?

A, 15000 3UU & 1Y TP ATUR B[ YB3{Td DAl ¢, al Hel- dla, B 12000
SUU & 1Y 39 ATYR H UM BIdl § 3R B D &l Aol €1¢ IR aAldd C,
10000 ¥UU & 1Y I AR H H MAA SIA1 S| 1 98 dlG pd A B (g
5700 ¥UU g | A1H H A P1 [o&AT fbd-r g2

Rs. 2700

Rs. 1800

5 Rs. 1200
Rs. 3000
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In AABC, AB and AC are 15 cm and 24 cm respectively, AD is the angle bisector
of zBAC and BD = 5 cm. Find the length of BC.

AABC . AB 3R AC THHST: 15 JHT 3R 24 1T ©, AD, ~BAC & B0 HGHSID § IR BD = 5 Y41 ©
BC &l didls J1d Piford|

10 cm

13 cm

q 5 16 cm
18 cm
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Find the mode of the data 7, 8, 11, 8, 7, 12, 8, 12, 7, 11, 14, 8.
7.8,11,8,7,12,8, 12,7, 11, 14, 8 3HH S| B gD Id DIOY |

.
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Two squares have sides x cm and (2x + 1) cm, respectively. The sum of their
perimeters is 100 cm. Area (in cm?) of the bigger square is

&l 91 I YolU HHRE: x JHI R (2 + 1) YT g | 3-d RHATG] DT IRT 100 JHT
9 1 BT AFhd (FHR ) ©

64

81

5 .
289
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In AABC, AD is perpendicular to BC, AD = 8cm and the area of the triangle is 48
cm?. Then, what is the value of BC?

AABC H, AD, BC & dddd &, AD = 8 JHI 3R (AU &1 &A% d 48 YHI2 g1 dl, BC
1 HH I 5?2

10 cm

16 cm

5 12 cm
15 cm
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Find the quadratic equation whose difference of roots is 3 and their product is 4.

fGaTdi FHIBRUT 1A SIS fSid Hal a1 3iak 3 § 3R 3D UHH 4 6 |

X% + 5x - 4
X% - BX + 4

X% -3x + 4
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The population of a city is 8000. If the number of males increases by 8% and
that of females by 12% then the population will become 8680. Find the number
of females in the city.

U GR DI BT 8000 §1 TG TN DT e H 8% 3R Afgersif ot T o
12% P1 di Bldl o dl SIHIAT 8680 B ST | RTGR H HIGTATSI @1 AT T B

2500

1500

2000
5 1000
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The side of a square field is 50 metres. It has a path 2 m wide all around it
inside. Find the area of the path ?

Uh GUNIPR HelH i Yoll 50 HIR 5| 39 3{ax IR| 3R 2 HIeR AIST I 6 | A
P GAH JATd PIT?

384 m?

280 m?

300 m?
5 214 m?
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There are 20 hens, 15 cows and some cowherds in a field. If the total number of

feet of all is 80 more than the total number of heads of all, then how many
cowherds will be standing there?

Qﬂ?@ﬂﬁmqﬁw 15mtraﬁ?g_o@ rmcua esc%‘ Hi%‘mﬁaﬁﬁﬁaﬁ@ﬂm
it & RRI & pol J=AT Y 80 3Hf€P g, Al 981 fba- IRdle WS B
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A mechanic purchased a 2"9 hand bike for Rs. 22,500. Rs. 1,000 spent on
repair and Rs. 800 for transportation charges. What must be selling price of bike
in order to earn 20%?

U U@ -1 22,500 39 H U JbhS 55 dgd Wxlal | AT UR 1,000 39T 3R
qRkdg e b [¢IU 800 YU Wd gU| 20% 1Y HHH & U a5 H1 f[dchd
I g1 d1igUu?

Rs. 30,000

Rs. 25,000

Rs. 29,160
4 5 Rs. 28,000
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If area of rhombus is 100 cm? and one of its diagonal is twice of other, then find
the value of bigger diagonal.

gic qHAGHS DT &A% d 100 JHI2 § 3R 9D U [dhUl g d &l -l g, dl o
fdhul b1 |- JA1d DI

40 cm

25cm

20 cm
10 cm
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what Is the difference between the mean and median of set S = (3, 5, 7, 8, 8,

14, 19, 93)7?

Jqe S=(3,5,7,8,8, 14,19, 93) & HIH 3R HAINLDT & did T 3R g2

15.86

9.65

12.33

11.62
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A sum of ¥ 1750 is divided into two parts such that
the interests on the first part at 8% simple interest
per annum and that on the other part at 6% simple

interest per annum are equal. The interest on each
part (In rupees) is

1,750 ¥9F i Tk AR T 9 ° 39 YR faafsa =i
St € fF 98l M W 8% i X F aftieh WIENU oA
AR TR AT W 6% HI X G ditieh LR AT SR
21 99 Y% WM 9 oS (F9E H) B-

(1) 60 (2) 65 (3) 70 (4) 40
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<Ishd 5 SATST 3T TR SATST o il 2 99 3R 3 9T oh 3L a1 AT
9:31 & al SETIEAIS hl ATYeh &T 1A shi? The ratio of the difference

between 2 years and 3 years between compound interest and simple

interest is 9:3 1, then find the annual rate of compound interest.?
1 444"/
- 9 0

2 571"/
- 7 0

2
3. 665"/0
4. NONE
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At what rate per cent per annum will ¥ 2304 amount
toI 2500 in 2 years at compound interest ?

forg aiftier =91 &t X W 2304 %. Thgfg A 9 2 99
T 2500 % B QA ?
1

(1)4%% (2) 4%'% (3) 4%% (4) 23%

45
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A,B and C can do a piece of work in
12 days, 15 days and 20 days
respectively, working alone. A begins to
do the work and they work alternately
one at a time for one day each. The
whole work completed?

A,B,C f&dt & &t 3tehe 12,15,20 fa= o
& HEHA T A FHH FIAT AT Fam & drt
aHi-arit | U fa7 siget s fa7 &m &
g1 &m fea faai & g g
(A) 15 (B) 4
€ 7 (D) 9
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If a 9-digit number 389x6378y is divisible by
72, then the value of v6x + 7y will be:



[ Matkendras [ P POLICE mirdas,/ UP aizaurs |

If 11-digit number 5678x43267y is divisible by 72, then
the value of V5x + 8y is



[ Matkendras [ P POLICE mirdas,/ UP aizaurs |

What should replace * in the number 94%2357, so that
number is divisible by 117
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Anil donated 30 percent of his income to the school and deposited 70 percent of
the remaining in his bank. now If he has Rs 97695, then what is Anil's income?

3{TAIET 31U 3T BT 30 WA= ¥Hd Bl & H < &l © 9UT =AY T 70 Tia=rd 39
S H OH B cdl o | Tic 3d 39 U 9765 3T ©, dl 31fAd &I 3T a1 872

Rs. 45600

Rs. 45500

Rs. 46500

Rs. 46000
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ol s1aM &

The value of the following is

cos 249 + cos 55° + cos 1259 + cos 204° + cos 300°

o QU

—
|

b | =

(@

2 0

= M | e
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The diagonals of a rhombus are 30 cm and 16 cm. The perimeter of the
rhombus is?

Uh JradHsl o fabul 30 Il &1k 16 4l & | GHAGUS 1 UMY B

58 cm

60 cm

68 cm
4 5 62 cm
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If the side of a square is increased by 16%% of its original value, then find the
percentage change in area of square.

afe fadl @t Yol b1 38D Hel HIH 3 164 % S¢r1 ofidl g, dl ol & &=t §
vfa=rd ulkad- Jd Hifor |

225 %
36 %

335 %

45
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The HCF of two numbers is 23 and the other two factors of their LCM are 29
and 49. The smaller of these number is

&l =13l &1 Hgad Head JHYad (H. 9. U.) 23 § 3R 3P dd9dH JHIdd
(@. 9. 9.) @ al 3G UHGS 29 3R 49 © | 598 I BICT ST ol

667

619

723
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If a and B are the roots of the equation 3x? — 7x + 2 = 0, then find the value of a?
+ B2

e a 3R B YHIBRUI3x2 - 7x + 2 =0 D Hd g, dl a2 + B2 P HMH JTd HIo |

35/9

82/9

q 37/9
49/9
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The marked price of an article is 20% more than its cost price .A discount of 20% is

given on the marked price .In this kind of sale ,the seller bears-

U% o] & 3ffhd Jod 39D 54 G U 20% HUF 51 3ifdhd Jed IR T 20% &1 Je &l
Al 21 59 UhR ¥ fah! S+ U= [ddhdl 981 &3dl e-

a loss of 8%
a gain of 4%
a loss of 4%
a loss of 8%
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Prakash wants to sell an watch with 20% profit, but he actually sold at 15% loss
for Rs. 340, At what price he wanted to sell it to earn the 20% profit?

YDA 20% P ¢H YR UD US| dd-1 dlgdl &, dldb- 344 di&kid H 340 298 H 15%
D1 I UR & &A1 1Y UItd e & QT 98 39 g Ted UR a1 d1gdl U1?

Rs. 480

Rs. 320

Rs. 350
5 Rs. 400
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An article costs Rs. 500 and the marked price is mentioned as Rs. 800. What is
the profit % for the seller if he sells and offers a discount of 10% on the marked
price?

Uh 9% 1 Hed 500 39T g AR 3ifdbd e 1800 39U & ¥4 H Icwid
STl g1 Ald 98 d9dl § 3R 3{fdd e WR 10% I §¢ Y& Hdl 6 dl 19
feTq TTH% T gRTI?

g1 7741
dr &

3 gl

22%

10%

20%
5 44%
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The ratio of the area of two triangles is 2 : 3 and ratio of their heightis 3 : 2. The
ratio of their bases is:

&l FAYSI & &%l Dl 3HUld 2 : 3§ 3R 3P] Fdls I -Uld 3: 2 51 3
YR BT 31Ul &:

45 .
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The length and breadth of the parallelogram is 12 cm & 8 cm respectively. And
one of the angle between them is 60° then find the area of the parallelogram.

Uh JHMIIR IqUel ! ddlg 3R dISTs HHRE: 12 JHI 3R 8 JHI g1 3R 34D dd
&1 U DIV 60° &, Al JHMIGR IqUS BT &AHd Td BT |

483

963

7273
45 96
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The area of rectangle is half of the area of square. Area of square is 576 sq.m. If
length of rectangle is 24m. What is the perimeter of a rectangle?

3d BT &FHA, 91 S &FH P 34T 1 9 BT &FHhd 576 99 HI o1 gfe 3mad
DI TS 24 | ©, dl 31Td &1 URATY 91 572

72 m

72 cm

288 m
45 12m
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Mr. Bin starts a business with Rs. 20,000. After 9 months Mr. John joins him with
Rs. 12,000. What will be the ratio of their profit at the end of 2 years?

41 fe 20,000 UL I AT Y= B 6 | 9 HelH b a1 dl Sii- 3= A1y 12,000
Y & Iy AMHA Bl ST & | 2 a8 & 3id H 39D A1 DT 34T FT1 GRT?

45 .
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If the mean is 15 and the median is 25, find the Mode.

gic {187 15 © SR HIHPT 25 T, Al 95D JTd HISTU?

45

40

.
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If the mean is 15 and the median is 25, find the Mode.

gic {187 15 © SR HIHPT 25 T, Al 95D JTd HISTU?

3 median=mode+2 mean.

45
40

35

45 )
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Which is the largest four digit number, which is fully divisible by 12, 15, 18 and
277
98 IR 3{D| dIcil o dof T HIF-31 g, Sl 12, 15, 18 3R 27 I gula: faHTiord
gl?

9690

9720

9930
4 5 9960
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The perimeter of AABC and APQR are 24 cm and 40 cm respectively and the
length of AB is 5 cm. Find the length of the PQ if AABC ~ APQR.

AABC 3[R APQR &1 URHATT HHT: 24 JHT 3R 40 IH! § 31X AB Pl @dlg 5 TH!
gl PQ @I @45 JTd difold afe AABC ~ APQR § |

25/3 cm

3/25 cm

3 cm
1/3 cm
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sic B AIEIDT T 62

What is the median of the distribution?

87,21, 583,12, 86, 98, 23, 64, 87, 23, 23, 87, 96, 12, 33

.95
. 96

.
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Find the length of longest diagonal if the ratio of length of diagonals of rhombus
s 7 : 11 and area of rhombus is 962.5 square cm?

gfc qHAqHS & [dH Ul DI ddls bl 3HUId 7 : 11 © 3R 39D &Ahd 962.5 47l
Il B, dl JHIGHS & J&3 Ao [dpu] oI dars 1 gRir?

35 cm

45 cm

55 cm
4 5 65 cm
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If area of the circle and square are same, then find the ratio of the radius of the
circle to side of the square.

gfc Uh o 3R 971 DI &A% d JHH o, dd 9o &I B 3R a1 &I Yol & Heq
3{Td I1d HIfS|

V2 : 7

V7 : 11

V31122
\7 1 22
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What is the mean of the first 75 natural numbers?

Ugd 75 UIhldd SRS BT HIS T 572

16

21

.
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On selling 17 Pens at Rs.720, there is a loss equal to the cost price of 5 pens.
The cost price of a pen is:

17 U1 1 720 394 H a9 WX, 5 Ul & Y Yo & aRI6R gl gldl o | Uh U P
T T o

Rs. 45
Rs .65

Rs. 60

45 o
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The product of the roots of a quadratic equation is 20 and the sum of its roots is
(-8). What is the quadratic equation?

feeTd GHI®RUI & Hd BT IUEHA 20 § 3R 396 Jd &1 9N (-8) 5| fgdrd
HHIHRUT HIT 52

x? -8x—20

X2+ 20x — 8

X% + 8x + 20
45 X2 + 8x — 20
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